
(xi) 

LIST OF FORMULAE 

1. (a + b) =a* + 2ab + b2 

3. (r+ a) (x + b)=x*+x (a + b) + ab 
4. (x+ a) (x + b) (x + c)= *+* (a +b+ c)+x (ab + bc + ca) + abc 
5. (a +b + c = a+ b+ c+2 (ab + bc + ca) 
6. (a + b = a + 3ab (a + b)+ b 

8. (a- ) = (a - b) (a? + ab + b 
10. (a- b) = (a + b) (a - b) 

12. (a+ a?b2 + b') = (a2 - ab + a7 + ab + b) 
13. a+b +d-3abc = (a + b + c) (* + b+ c- 2ab -2bc 2ca) 

2. (a-b?= a? - 2ab + b2 

7. (a-b = a- 3ab (a - b) -b 
9. (a+b) = (a + b) (a? -ab + b) 

11. (a+ b) = (a + ib) (a - ib) 

14. sin (At B) = sin A cos B t cos A sin B 

15. cos (A t B) = cos A cos B sin A sin B 

tan A t tan B 

1 tan A tan B 
2 tan A 16. lan (A + B) = 

17. sin 2A = 2 sin A cos A = 
1 tan A 

18. cos 24 = cosA -sin?A = 2 cos?A-1 = 1-2 sin?A= tanA 
1+ tan A4 

2 tan f* 
9. ton 2A. 20. sin 3A = 3 sin A - 4 sin'A 

ian A 

3 tan A - tan° A 
21. cos 3A = 4 cos'A - 3 cos A 22. tan 3A = 

1-3 tan A 

23. sin C+ sin D = 2 sin 

-24. sin C -sin D =2 cos 

25. cos C+ cos D = 2 cos 

26. cos C - cos D = - 2 sin (:)-(*) 
27. sin (A + B) + sin (A - B) = 2 sin A cos B 
28. sin (A + B) - sin (A - B) = 2 cos A sin B 
29. cos (A+ B) + cos (A - B) = 2 cos A cos B 



(xii) 

30. cos (A - B) - cos (A + B) = 2 sin A sin B 

Sin 2R, R: rad. of circum circle. 

b+ c-a

b 
31 

$in A sin B 

32. a=+ d-2bc cos A or cos A = similarly other 2 results. 
2bc 

abc 33. Arca of triangle ABC, A = bc sin A similarly 2 results or A= 
4R 

a+b+C or A= s (s-a) (s -b)(s-c) where S 
2 

nn+1) 34. = 1 +2+ 3 n= 
2 

35. 2n = 1?+22 + 3 2 "t1)(2n + 1) 
6 

t1)Y 

2 
36. =1+2 + 3P+ 

e ear 37. sinh àx = .38. cosh ax = -

iar iar 
39. sin ax = 40. cos ax = 

2i 21. 
41. (cos 0+ i sin 6)" = (cis 6)" = cis nê = cos ne+ i sin n6 

43. Area of the ellipse = Ttab 

45. Volume of the sphere = 4/3 n 
47. Volume of the right circular cylinder = nh 

42. Area of the circle = t2 

44. Surface area of the sphere = 47t2 

46. Volume of the cone = 1/3 (uh) 

48. Total surface area of the cylinder = r (r+1). (l= slant height) 

Differentiation Integration
+1 

1. dr = 
n+1 

=n -1 +C addc to all 1 

2.(ax + b =n (ax +b*'a 
dx 

2. (ax + b)"dr = (ax +b 
a(n+1) 

- C 

d 3. a d = 3 ()" lug a 

m loga dx 
Ma L0f 

T 
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(")= me 4 dr 
m 

d 
(log ) 5. logx= log,X 5. 

() (og,)= 
loga 

log f()] s()
s() ( d = log f(r) 

dr 

Sin mr 

(Sin mLx)= m coS mr 
d 

7. cos mx dr = 

COS mx 
8. () (cos mr) =- m Sin mmx 8. (i)sin mx dr = 

d 
(ii) log sec x) = tan x (i) tan x dx = - log cos.x = log sec x 

tan mx 
Atan mx)= m: secmx 9. sec mx dr = 

m 

cOl nr 10. (i) cosec mr dx = -* -10. (:) (cot mr) =- m cosec*mx 
dr 

-

d (m)(log sin x) = cot x (i) cot x dr = log sin x 
dr 

d Sec mx 
T. (sec mr) = m sec mr tan mr 11. secmx tan mr dr = 

dr 
m 

d cosec mx cot mx COsec mx 
12 (cosec mr) = - * 

d 12. cosec mx cot mr dx= -

d 
13. (log (sec x + lan x)) = sec x 

dr 
13 sec xdr = log (secx + tan x) 

14d(log (cosec x t cot x))= - cosec x 14. cosec xdr = - log (cosec ¥ + cot r) 

log tan or 

dx 

15 cos 
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16. 6) , = tan"() or - cot' (x) dx 16. 0an) dx 

= dx = sec'x or-cosec-x 
dx 

d 
17. (sinh x) = coshx 17. cosh x dx = sinh x 

dr 

d 
18 (cosh x) = sinhx 18. sinh x dx = cosh x 

dr 

(tanh x) = sechx 19. sech'x dx = tanh x 19. 
dx 

d 
20. (cosech x =- cosech x coth x 20. cosech x coth x dx =- cosech 

(sech x) = - sech x tanh x 21. sechx- tanh xdx = sech x 

d 
22. (cot h x)= - cosech?x 22. cosech x dx = - coth x 

dx = sinhx 23. (sinh )= + 23. dx 

dx 24.(cosh" )T2 coshx 
dr 

d 
25. 25.(tanh x)= - ? dx 

dx 
26. Cosechx (cosech x) = - -

+ 26. ds 

dx 
27. sechx (scch x)=- 21 dx 

Bevno(f s dula 

28 Juor-Jvd +u' 28. (uv) = uv t uv 

29. (ulv) 



(Xv) 

d dx 
33 Cosh x 2 = sinl 

a 

34. J() ya- sin a 

15. JVe) d = Ja?id .sinh 2 a 

36. Ja- ).as = J2-a- a cosh cosh 

2 a 

V-a 
37sin (bx + c) dx = ; a sin (bx + c) -b cos (bx +c)] 

22/7 [lsin (bx +c -0)| where e=tan(b/a) Or 

e 
38. cos (bx + c) de = 

a4 a cos (bx t+ c)+b sin (bx + c)} 

7z cos (bx +c-0) 

(a+B 
where 0 = tan(b/la) Or 

39. )d = s(a-x)d 
a0. ) dr =2 ) d if f{2a-x) =f) 

0 if f24-x)= f) 
1. x) dx = 2(x)dx , iffu) is even function, ie. f-x) = f) 

= 0 if f) is odd function, ie.. f(-x) = - f(x) 

: 
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